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~| Gesto$¢ wody morskiej w zaleznosci od temperatury i za-
solenia (nadmiar ponad 1000 kg m—3)
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~| Czy zmiana temperatury wody o 5°C powoduje w
zmiane gestosci w obszarach réwnikowych czy polarnych?
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(Do) 2amuradudy,
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Dwie masy wody o tej samej gestoéci mieszaja sie (jedna
ciepta i bardziej stona, druga chtodna i mniej stona), czy
po zmieszaniu sie tych dwéch mas wody (w stosunku
50/50) dalej beda miaty te sama gestos$c?
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Wzdr na zmiane gestosci dla matych zmian temperatury i zasolenia
p=po[l+ B(5-S)-a(T-T)]
In the expression above S is salinity, T is temperature, 3 is the haline coefficient and «v is the thermal

coefficient. Sp och Th are reference values that you can choose freely and pp = p(So, To). The values

of o and /3 depends on what values you chopse forr Sp and To. If we chose Sp=34.6 and T ==0.5C
then pg = p(Sp, Ty)=1027,8 kg/m®, cx == 5.77%107° C L and 8 = 7.84 %« 107,

When the temperature increase the density decrease — that means that1 kg of warm water occupies a
larger space than 1 kg of cold water. A large part of the sea level rise that we are observing today (and
that we will see in the future) is caused by the increase in temperature of water at depth in the ocean. If

water which is 4000m deep (with So, Th, po,3 and x as given in exercise 3) is heated by 1C, how much
will the sea level then rise?



